(38) Why is MgSO, soluble in water whereas BaSO, is insoluble
in water? | |
(MgSO, &= 7arg® W &% BaSO, TAIg® 2 Al (I ?)
(39) Alcohols react with phophorous halides to form haloalkane

but phenols do not form haloarenes? ;
(SIS T HIARCGA ACS (LA ST St
IR g (Taeefs rEleRR Sem IE@ A — (3 2)
(40) Why chlorform is stored in dark coloured bottles ?
(@RATHDT (I 91y T (AT A T (T ?)

Xk >k %k K

(8)
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Chemistry Aptitude Test - 2017

Stage - lll (for Class XlI)

Full Marks : 50 Time : 1-30 howrs

Answer all the questions.There are 30 MCQ (1-30) in Group A, each of 1
mark. Each MCQ has been provided with four options. Shade the correct
option with ball point pen in the appropriate box in the Answer-script. Muitgple

shading is liable to cancel the relevant answer. 0.25 mark will bededucted

for wrong answer to each MCQ. Group B Contains 10 questions (31 - 40)
each of 2 marks - answer these questions in the space provided for in
the Answer-script.

(A) Answer the following queéions - 1x30=30
(1) If a-d-shell contains four unpaired electrons then how many
~ electron exchianges can occur?
(d T 415 BLERGH A T LETRGA G 20T A 2)
(a)4 (b)3 (c)16 (d)6 | |

(2) Which of the following pairs have identical values of % ?

([e7 @FETa & 97 W 933)

(a) A proton and a neutron (264, fHGE)
(b) A proton and a deuterium (2T, fCTTHEI)
(¢) Deuterium and an a-parlicdi (fSBHRAaM, -3fa)
(d) An electron and y-rays. (RTEG, AT )

(3) The correct slectronic contiguration of Pd (z = 46) is -
(Pd «3 5% TGS 9107 [F1=iD 2ot —)
(@) 4d°5s'  (b)4d®  (c) 4d*Ss'  (d) 4d"6s?

(4) The velocity of the de-Broglie wave is given by which of
the following
(de-Broglie 3375 SifeTa5! [ET (I Qi 2 =1 T 2)

G hu i

S L me®
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(5) Which of the following oxyacids of sulphur contain no
sulphur - sulphur (s-s) bonds?
(A @1 S SIPORTe s-s IH 12?)
- (a)H,S,0, (b) H,S,0,
(c) H,S,0, (d) H,S,0,
(6) Among following alcohols, which has lowest boiling point?
(AER (I SETIIZADBT “Poars AT ?)
(2) n-Butyl alcohol (b) 1sobutyl alconol
(n-ITHRA SEAPE)  (Iso-ROHRe Syieraze)
(c) sec-Butylalcohol (d) tert Butyl alcohol
(s-REBIRE SHETHIZE) (t-IRCG R SpeTiRe)
(7) Which of following, molecule is linear -
(B F= 9qfS F=cake ?)
(@ CO, (B)NO, (c)SO, (d)CIO,
(8) Which of the following is correct order of electronegativity-
(53 W T Sfe AANGTOI ATATE —A(9F)
(a) SP > SP?2> SpP3 - (b) SP*>SP?2> SP
(c) SP?> SP > SP# (d) SP? > SP > SP?
(9) Which of the following arrangements correctly represent
the order of bond angles?
(IF T TP [ @ A 2)
(@) NH, > PH, > AsH, (b) NH,>H,O0>F,0
(c) NO; >NO, >NO, (d)CH,>NH,>HO
(10) Which of the following dipole moment order is correct?
(I3 @Dtz S 7 Fw?)
(@) CH,ClI>CH,F > CH,Br > CH,|
(b) CH,F>CH,Cl>CH,Br> CH,(|
(c) CH,CI>CH,Br>CH,l > CH,F
(2)

Group -B

(B) Answer the following questions :- 2x10=20

(31) Among NF, and NH, Which one has higher dipole moment
and why?
(NF,'8 NH, 93 tgg (@167 farsree areaa w9 @ 8 (31 2)

(32) Which of molarity and molality can not be changed on
changing temperature? Give reason. |
(R e el st @ oot SRS woE
RAMO® T N 2 PRI 7S 1)

(33) Explain why 1st ionisation enthalpy of Be is greater than
that of B. But the 2nd ionisation enthalpy of Be is less than
that of B.
(REFEETR g2 SERRE 9@t @R Srors @
fog Rt ol SEwRTex= qmaEfs @6 e
(F?)

(34) Out of benzene, m-dinitrobenzene and toluene which wil

undergo nitration most easily and why?
(Rfgm, (OrerRARG! (e ¢ TRt N0 @It ARHHA
ARG W AR (FH?)

(35) Indicate the ¢ and z bonds in HCONHCH,.
(HCONHCH, 4 § € 7 I=afel fAui= 33 1)

(36) How will you separate o-nitrophenol and p-nitropnenol?
(STCLFRGIFF € *FRTRGIFAS [FOI #4245 33 ?)

(37) 56kg of N.(g) and 10kg of H,(g) are mixed to produce
NH,(g). Calculate the no. of moles of anmonia gas

formed.Which will remain in little excess?
(5.8kg N,(g) 3% 1kg H,(g) 93 fafemara Beot NH (g) siitow
e 4l fefE &3 | wrwta (G g5 wiikfee ey

(7)



(26) Which of the following is produced when oxalic acid heated
with concentrated H,SO,? '
(T Snifere T ASRFE R Sifesiz Ted F&e e
(I AT T3 ?)
(@) CO (b) SO, and CO, (c) COand SO, (d) CO,
(27) Which of the following is the correct order of electron

affinity?
(st (iefb 2eeregw wifes Aowa 7)
(a)C<O<N<B (b)) N<O<B<C
(c)O<C<B<N (dN<B<C<O

(28) The correct stability order of the following is -
(FIRT FAeTw @ 2)
(CH3)20:I () CH,= CH - CH, (Il) C,H,- cﬁz (1)
@ 1>1> 1 (i) 1> 1>
GiYMm=u>1r =~ @Gvyl>i>I

(29) The correct order of basicity of the following is
(FefrResfem cvta wrares w5 @t =1 —)
(i) CH,NH, (i) (CH,),NH
(iii) C;H-NH, (iv) P-nitroaniline (P-713tgremafe)
Yi>l=>Hl>Iv @ n=t>1=>1v
i)l >1>1>1V (V) IV=ill=>11 >

(30) Which of the following will not give anisole (-OCHs)?
(i et smfeem tofd waca )
(a) Phenol + Dimethyl sulphate __base

(= + TIRNAZTH AETCTH F)

(b) NaO,CH, + CH,l — (c) Phenol (¢F=1) + CH,N, —
(d) Phenol ((F<+1) + CH,Mgl —

(6)

(d) CH,F>CH,CI>CH,l >CH,Br
(11) Given the reaction
C(s) + H,O(l) — CO(g) + H,(g)
What is the volume of the gases produced at STP from
48.0g of carbon.
(a) 179.22 (b) 89.62 (c)44.82 (d)22.42
(2vs RieFara SRI 48gm I (ATF B e ey
STP (T 397?) -
(12) At low pressure, the vander waols equation is reduced to

which of the following form?

(5 Slefan SsReTs ANFACIT SRS FHel A5
(BIRG ?)

pV ap | PV b
_—m __4_ =M iy
@ =g "Rt ® FZRrTMRTP
= RT . z—-E’.Y..’.‘J.-—-‘[ a

(13) When 0.5 mol of BaCl, is added to 0.2 mol of Na,Po,, the
number of moles of Ba,(PO,), formed is -
(339 0.5 (1= BaCl, 0.2 (W& Na,PO, «3 AL (Wist e
Teofd Ba,(PO,), 93 (& R T@—)
(a)0.10  (b) 0.20 (c)0.40 (d)O0.15

(14) What is the mass of 1 x 10?2 molecules of CuSO,.5H,0?
(10299 CuS0O,.5H,0 1T ST 75 ?)
(a) 4.144g (b) 8.288g (c) 2.648g (d) 5.295g.

(15) What would be the number of ions in 1 ml of a solution of
5.85gm NaCl in 1L?

(5.85gm NaCl @3 1 &6 w37 1 (wa) fifEEGIE sE=
AN BE LI ?)

(3)



(a) 6.02 x 10" (b) 1.2 x 102
(c)1.2x10®™ (d) 6.02 x 10® |
(16) When 2.76gm of Ag,CO, is heated it would yield a residue
weighing‘ ==
( 2.76gm Ag,CO, (¥ TEY TR TAT HICITIT 8T )
(a) 3.48gm (b) 1.44gm
(c) 2.169 (d) 4.16gm
(17) Which of the following is the correct order of reducing
power? o
(Rcva @I Rere 4oz #fde a?)
(a) Zn <Al < Mg < Na (b) Al < Mg <Zn < Na
(c) Na<Mg <Al<Zn (d) Mg < Na <Zn <Al
(18) The Oxidation no. of carbon in HCOOH is —
(HCOOH @ FIR(AT T 7 ZeT)
(a) + 2 (b) -2 (c) +4 (d) zero
(19) Which of the following species cannot exist in an aqueous
solution (AHA FHT TAR T AFG AT 71 2)
(@) NO; (b) NH,
(c) NH, (d) NH,
(20) Which of the following carboxylic acids is the most acidic?
(AR @ SRR st wiieer i)
(a) Acetic Acid (STITHIDS SHIFAT)
(b) Formic acid (Fafi= Sifo)
(c) Benzoic acid (@&l i)
(d) Cyclopentane Carboxyiic Acid (R (A5 FdFHE =pie)
(21) In the reaction N,(g) + 3H,(g) = 2NH,(g), which of the
following is correct? (&#@ fRf&aioa cwta e @G 70w ?)

(4)

Ky

(a) Kp = KX (RT)2 (b) KP _ (RT)Z
o Ko | K,

© K =RTY? @) Ke =1mTy2

(22) The IUPAC name of the compound
CH, - CH (OH) CH,C(OH) (CH,), is -
(2mg (96T IUPAC SIS <IN T6 —)
(a) 2-methyl-2, 4-dihydroxypentane.
(b) 1, 1 dimethyl - 4 - hydroxybutanol.
(c) 2-methyl-2, 4-pentanediol.

(d) 2-hydroxy, 2-methyl 4-pentanol.
(23) The order of +} effect of the folloWing group is -
- (EfaiRs spoiafe CHa +1 FOETT &N 26 —)
(CH,),C-(l), (CH,),CH-(il), CH,-CH, {lll), CH,(IV)
@) I1>ll>1l1>1V (b IV>1l>11>]
C)li>1>IV=>Ii - di>l>IV>ll
(24) Which of the following can show functional group

isomerism?
(FrefafReoelm csta @R TS e TErERe
(FRITA ?)
(a) CH,OC H, N (b) CH,CH,NH,
(c) CH,CH,CH = CH, (d) None of these.
(25) Methane as well as ethane can be obtained in one step

from which of the following?

(TR @23 LR G306 T 4T SANST AL AN @D (AF2)
(a) CH,OH (b) C,H,OH

(c) CH,| (d) C,H,

(5)
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